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az ( assume (a > 0]) — redundant
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A0102 #004
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Stabkraftvektoren

A0102 #005

Modifications in sky blue

This seems to have issues
with vectorize

also, needs maxima to
simplify sqgrt(a~2)

Stabvektoren
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forget (x#):= | str2num (eval (num2str (x#)]]

A0102 #006
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Very ugly trick: helps for "forget" the
definition, or "do" it or something else.

Resultierende Kraft

SF=F, + F, 4+ F, +F 4+ F,

Resultierendes Moment

GGB := forget [stack [ZF, Z’MA)]

448 x 196

"A0102"

IMy =Y, XF, + rp X Fp + . X F,+ 1, xF, 4+ r, xF,

Gleichgewichtsbedingungen und unbekannte Lagerreaktionen

A0102 #007

a-[2~[[—3-52-m+2-51-E]-E—S-%-M'E]—&GP-E-M-E

R :=
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Using lexical order looks better
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A0102 #008
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A0102 #009

M:= Jacob (GGB, R) y:=M.R_-GGB
x := forget [M .y] [14 Js Je
010 = 0 =
—0.0042 [14] Je
0.2415 3 1 2
* | 0.7881 08I =TT 5 6
x| v 1 Js e
G, 0.1585 - 000 2:2 3.2 8-a
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—0.4878 7.a 4.a
000 0
J14 Je
"A0102" Jia  J5 e
e
I :=Assign (Solve (GGB, R)) 2
X
A —0.0042
Y 0.2415
1|2 | o.7881
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s, 0.1326
—0.4878
S3
"A0102"
Everything with Findroot
G,:=10kN a:=1m Clear(s,, SZ,Sj,AX,Ay,AZ,R]zl
—_—
A
X
A —42.4
Y 2420
A
7880
FindRoot |GGB, | “|=1n|= N
s, 1590
s, 1330
— 4880
SJ
A0102 #011
Clear[Sl, Syr S30 Agr A, AZ]=1
160 x 30
"A0102"
A0102 #012
0 0 a a
I, = 0 rpi= 3.a r.:= 0 r, = 3.a
0 0 2.a 2.a
|
3.a 2.a 2.a . 0.5m
rp:=| —a r,:=(3.a r.:=|4-a rM::E-[rD—rA]z 1.5m
=a —a 0 lm

"AO102"
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A0102 #013
A0102 #014

Using this e enable
further vectorization

278 x 64
184 x 80
nA0102" A0102
Stabvektoren
A0102 #015
510 x 63
"AQ102"
Stabkraftvektoren
FB._e[rF_rB].52 FC._e[rE_rC].Sl FD:e[rG_rD].S3
200000000000000 -5, 2.5, S,
223606797749979 J14 A6
7= 0 s, S,
S FC = — FD = —
B 2 J1a G
2.23606797749979 3,51 2,53
VET: -~ Je
"AQ102"
this horrible F.B is because e (V) without maxima.
Resultierende Kraft
SFe=F, 4+ F, 4+ F .+ F + F, A
. A
Resultierendes Moment &
A
P4
ZMA::rAxFA-|-rBxFB+rchc+erFD+erFM R := E
1
Gleichgewichtsbedingungen und unbekannte Lagerreaktionen S,
GGB := forget |stack(2F, ZM, S3
448 x 180
"AQ102"
—42.3729 15
2415.2542 ~1.9986.10
sol :=roots —1kg:=1s:=1], R|N= 7881.3559 | 3.9694.10 12
- [m=1kg:=1s:=1]s | 1585.448 : »
GGBX = GGB 1326.481 o | 4.0806-10 .
—4878.2211 e -11
sol 1.1361-10 m
7.9387.10 12
— . . m
( [A =1 N1
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A =1N —42.4 2.2485.10 m
Y 2420
A =1N -11
. z 7880 1.4593.10
FindRoot | GGB, 5 1N = 1590 N 11
1= 1330 1.9966-10
Sy =1N 4880 _2.294.10
- - GGB = ’ N
S;=1N ~10
~1.0689-10 m
—11
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—11
~9.0143-10 m
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